00-3€0-00SN 4

A - A
C-2C
£ Sy A 1+ 2
3 630 .
.
25 _‘L 245.83X5=1229.17 _|_<aeo.83> //ﬁ 500
e " il
| C B 6 2 ‘s R
T 1 . B I
e FH Fr FH
:' :' :' I
| | | |
I ! I | iz E
1 | D 1 N NIE
I | | | t
n & m . 1O+ —+O+—
105 | 465X2=930 | (360) | 1051 il @ A
Y TS
i g |
N~
Tt —F G \
G =G
105 . 465X2=930 L (360> i 105] i g
i
LS Ao — gt —— b —— b — e ——— il | | 2 lal in
_T Ak 4 L Y ¥°Y 7 ¥ ¥¥ Y W_j_ % L |
25 || 150X9=1350 oo |25 |_
L 1500 | 1 L 612 ]
& [_© 25 AL -
13|  GB70-85 NRNARME M12X35 8 35 0.051|0.408| 4 K
12| GBS781-86" | X # M12X40 4 Q235  D04970199 4 m
11| GB5781-86 | # # M12X35 38| G235  D0453172| A M
AR 10 | GB93-87 EEN B 60  65Mn  0.00440276] 4 W
| | | " L — 9|  GB41-86 X ¥ M2 60/ @235 " 001630978 4 W
| + + % _(H—iﬂ-—‘F [ 2 MERRERETIEL 15mm. 8| GBS781-86 | W # MI2X30 0] @235 04090409 &
; 3. MPREENSAEARTNEELEY 1.omm.
4 ROTOSTIATRER o, LESHUARR 7 | FUS00-03B-04 | K ckib ¥4k 1 R235  |23.51
. 5. MESREMARRRER 5001, RABRIAEREE +1. b| GESRrED | A1 S 2| FMM M P10z
6. WAETAEEE-E Mipte, SO FUS00-03-04 | # % 4 ¢ 4 i 2.07 |20.28
\ S S O e s . 4 | FUS00-03B-03 | K Chicb) ¥Mbs 1+l 44  [79.97]59.94
D O 1 HERSMRERREA GHRERR) ERMBEEE LEXIAR LS. 3 | FUS00-03B-02 | i G ¥44 2 45 16.03(32.06
| 2 %m,u;mmmexammm Rt M12X30) 2| GB3985-83 | # 'k s=1 2| kK ™ 50X1000
HERR AR, 1 | FUS00-03B-01 ( 1 50,09
3, EEEBAME M12X40) . ERIEEHAR. e ... IR
L e — — o
| | | | — | | q’ﬂ Q.S*ﬁmﬁ FUS00-03C-00
L S £ £ (08 A
| S K & N ¥ & % f 1| kA Bk
£ F! ¥ 289.87| 18
L2 ' s
I 1 A * k 3 & FARAES ASTE




